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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-2_0
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2400 400 o
100 - |
o0 T900 - 2000 °
£
160 8103 280 || 4284 >
90 7 - 1000 &
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
( o vi — ME Fon0
— 45 - FRV — MW 1
= +
e ) U S 20 e R B e E LR R EE e e —maxh= |- 150 £
" 40 1 <
) - 100 _E
El =
o ‘ Mk Il""i al
1.0 0
1
0.8
0.6 -
0.4 1
0.2 A ; .
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtEC0=3000.0, setECB=2200 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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P3-2_0, Day=74 (2025-06-11)

| _obs
—@— PPFD obs

40 -

RH_obs
RHo_obs
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33.
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37.

37.
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35.
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35.

34.
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38 -
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34 -

T T
800 1000

m=565,m FV0=0

T
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T T T T T T
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m=705,m FV0=0
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5 -
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5 -
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5 - T T T
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25 -
00 -
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50 -
25 -
00 -
830 835 840

35.

34.
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34.

34.
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34.

34.

33.

m=465, FV0=0

M_E

4%0 4%5
m=600,n FV0=0

T T
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865 870 875
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m=495, FV0=0
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m=990, FV0=0
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42 -
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42 A
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P3-2

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

07:20 283 150.0 2.583 E|  {Rige07:20 Bah (RE{ERLEE)
08:20 283 150.0 2.583 S| {Ri%@08:20 B (KRAAERSE)
09:45 283 150. 0 2.583 F BRi%e09:45 BEh (RAERE)
11:00 283 150. 0 2.583 E| {Rige11:00 Bzh (RE{EREE)
12:05 283 150.0 2.583 =l {Rige12:05 B3 (REAERSE)
13:00 283 150. 0 2.583 E BRi&e13:00 Bz (GRAERERE)
13:50 283 150.0 2.583 5| {Ri%e13:50 B3 (RAERSE)
14:45 283 150.0 2.583 = RRiB014:45 Bz (RFEAEESE)
15:50 283 150. 0 2.583 E BRi&e15:50 Bz (GRAERE)
21t 2547.0 (9%) 1350.0 3EIHKEC: 2200, PH: 6.0

FEREHERE STEELRF (182.0

BRINSEPRERL144. 0 ml.
FRAVE NS KFHZPH 6. 005
FRAE NS RIFEREC 2200. 0

144.0), AIEERT—@E XAH5




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

50— — — T T T T s ]
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2400 9304 =
1 -
0011969 -20001;
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50 11860 F756 L 1000 &
Warning: lcol [FVI',| "FVO’'] missing
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C
©
=
E
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o
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0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtECO=2914.0, setECB=2200 N
0.6 -
0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 N
0.6 -
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
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P3-2_0, Day=73 (2025-06-10)




m=445, FV0=0 m=495, FV0=0 m=520, FV0=0

36.01 _g ME o NE 36. 4 - o NE
i 36.0 -
35.9 36. 2 -
35.0 -
35.5 - 26.0
34.5 4
35.0 - 35. 8 -
34.0 1
33.5 - 34.5 - 35. 6 1
T T T T T T T T T T T T
400 600 800 1000 445 450 455 495 500 505 520 525 530
m=570,m FV0=0 m=610,m FV0=0 m=655,m FV0=0 m=690,m FV0=0
35. 25 A
- ME -o— ME —o— ME 25 0 —-o— ME
35. 00 - 34.0 1
35.0 -
34. 75 4 34.5 7
33.5 1
34.5 1 34. 50 34.0 1
34.0 1
34. 00 A 33.0 1
T T T T T T T T T T T T
570 575 580 610 615 620 655 660 665 690 695 700
m=730,m FV0=0 m=765,m FV0=0 m=800,m FV0=0 m=835,m FV0=0
—e— ME 36.0 1 —o— ME 36.0 17 _o— M_E —— ME
35. 5 35.5 -
35.5 - 35.9 1
35.0 - 35.0 -
35.0 - 35.0 1
34.5 1 34.5 -
34.5 -
34.5 -
34.0 -
34.0 1
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m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0 m=1010m FVO0=0
—o— ME 35 5] —@— ME 35,0 - —o— ME a4l & ME
35.5 -
34.2 1
5.0 34.5 -
35.0 - ' 34.0 1
34.0 1 33.8
34.5 34.5
33.5 - 33.6 1
34.0 33.4 -
34.0 1 33.0 1
875 880 885 915 920 925 965 970 975 1010 1015 1020



m=1040, FV0=0 m=445, FV0=0 m=495, FV0=0

—-e— ME 46 —-— MW - MW
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—0— MW -0 MW 47 —0— MW —0— MW
47 46 - 46 4
46
46 -
45 ~ i
44 44
45 -
44 -
44 49 - 43 - 42 +
43 42
T T T T T T T T T 40 T T T
520 525 530 570 575 580 610 615 620 655 660 665
m=690,m FV0=0 m=730,m FV0=0 m=765,m FV0=0 m=800,m FV0=0
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49 - 42 ~ 42
41 -
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690 695 700 730 735 740 765 770 775 800 805 810
m=835,m FV0=0 m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0
46 -— MW 46 - -— MW - MW 46 - - MW
7 46
45 -
45 45 -
44 44 -
44 44 -
43 4 . 43 4
42 3
42 | 42 1
42
41 41 1
40 - 41
40 T T T T T T T T T T T T
835 840 845 875 880 885 915 920 925 965 970 975



47 -

46 -

45 -

44 -

43

42

m=1010, FVO=0

—0—

M_W

T
1010

T
1015

T
1020

m=1040, FV0=0
47 - —— MW
46
45
44 H
T T T
1040 1045 1050




hour

100

8:35

80
9:50
11:35 60
13:25 40
14:30

20
22:05 -

I I I I I I I I
% s & R A b B K %
& J\* _%%s» & %ﬁ\ @v&@%&, A ’@*é‘&

-:i%_'\ A4 N\



P3-2

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS R

08:35 278 150. 0 2.583 |Z=&| 1BRi&e08:35 Bzl (RAEREE)
09:50 278 150. 0 2.583 |Z=| {Ri&e09:50 Bz (KREEHSE)
11:35 278 150.0 2.583 (£ =| 1Rige11:35 Bz (REAERSE)
13:25 278 150.0 2.583 [/\fi| {Ri%@13:25 Bz (REAEHSE)
14:30 278 150.0 2.583 FA| {Ri%@14:30 Bz (GRAEEE)
2it]1390.0 (5%) 750.0 ZHKEC: 2200, PH: 6.0

HERRHEME S TEAERTS (179.0 : 142.0), AIgEMF—RE XAH45

ERIASSBRIERL142.0 ml.

FRAVE NS KFHZPH 6. 005
FRAE NS RIFEREC 2200. 0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=72 (2025-06-09)

150 A

100 A

50

VI, VPRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2500
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Warning: lcol [FVI',| "FVO’'] missing
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- 3000

- 2000

T
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o
o
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2829. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=375, FV0=0 m=420, FV0=0 m=470, FV0=0

36. 0

—o— ME 38.01 —8— ME 38.5 1 —o— ME
35.5 - 28 4
i 37.5 -
35.0 38.3 -
34.5 -
37.0 - 38.2 -
34.0 -
65 38.1 -
33.5 - ]
38.0 -
33 - 33.0 + 04
- MNE 36.0 579
T T T T T T T T T T T T T
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0 -
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